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1. | This test-booklet contains total 80 questions. All
questions are compulsory. The booklet is bilingual.
In case of any dispute, English version will be
considered as final.
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2. | The test-booklet consists of 22 pages, including the
cover sheet. Count the number of pages and
questions before attempting the questions.
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for rough work.
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4. | Each question is followed by four alternatives.
Select only one, which you consider as the most
appropriate. Shade the relevant circle against the
corresponding question number on the OMR
answer sheet. Selecting more than one answer for
a question, even if one of the selected answers is
correct, would result in its being treated as an
incorrect answer.

4. | yd% U=RA & fo OR e fed g1 599 9
fodt te fapww &1, SO MU Tad s
SugEd ¥ €, 99 PIoT| OMR T W
U T & SIER ITH ITHA GETd g B!
@giferd eifore| et te uxd & fou e ¥
s IR BT 999, Hd 98 el Bl "SID
Ry T 39 Tad IR {41 e |-

5. i) Each correct answer will carry 2 marks.
i1) Wrong answers will carry negative marks of
-0.5 each.

iii) Questions not attempted will carry no mark.
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6. | This booklet has three sections:

Part A — Language Proficiency —20 Questions
Part B —Teaching Aptitude — 30 Questions
Part C —Reasoning Ability —30 Questions
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to qualifying examination marks.
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8. | Responses should be marked on the OMR answer-
sheet only. No answer should be written on the test-
booklet
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PART - A
Language Proficiency
(Expected Answering Time: 20 Minutes)
Direction: (Question No. 1-5)

Read the following passage carefully and answer the questions given below it.
The problem of water pollution by pesticides can be understood only in context, as part of the whole to
which it belongs the pollution of the total environment of mankind. The pollution entering our waterways
comes from many sources; radio-active wastes from reactors, laboratories, hospitals, domestic wastes
from cities, chemical wastes from factories. To these is added a new kind of fallow the chemical sprays
applied to vegetables, fruits and crops in gardens, forests and fields. Many of the chemical agents in this
alarming mélange initiate and augment the harmful effects of radiations through water usage. Ever since
the use of chemical sprays, the problems of water purification have become complex and in rivers, all
wastes combine to produce deposits that scientists refer to as gunk. For the most part this pollution is
unseen and invisible and also a threat of widespread contamination of ground water. Rain, falling on the
land with chemical sprayed, settles down through pores and cracks in soil and rock and storing itself deep
as ground water. And so, in a real and very frightening sense, pollution of the ground water is pollution
of water everywhere. ’ '
1. The word ‘pollution” in Sentence number 1 means:
(1) Disease
(2) Infection
(3) Sickness
(4) Contamination
2. The word ‘melange’ means:
(1) Transformation
(2) Combination
(3) Association
(4) Infiltration
3. There is a threat of widespread contamination of ground water because:
(1) Rains are scarce these days
(2) Less number of trees are planted
(3) Chemicals and pesticides are vastly used
(4) Rivers are getting dry
4. The word ‘gunk’ refers:
(1) To microbes found in water supplies
(2) To the domestic water supplies
(3) To the nuclear fallouts in rivers
(4) To the unidentifiable deposits found in water
5. Which of the following is not related to chemical except:
(1) Pesticides
(2) Heat
(3) Pollutants
(4) Sands
6. Select the most appropriate option to fill in the blank.
He must train very hard he will lose the competition.
(1) or
(2) either
(3) nor
(4) neither
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9.

10.

11.

12.

Select the most appropriate option to fill in the blank.

A small but strange creature emerged from its hole while I on the sea beach.
(1) walked

(2) went walking

(3) am walking

(4) had walked

Fill in the blank with the correct prefix.

A number of officers are waiting in the room to meet the Chairperson.

(1) ante

(2) anti

(3) sub

(4) ultra

Choose the most appropriate word from among the options similar in meaning to the word ‘Improvement’.
(1) Hindrance

(2) Deterioration

(3) Enhancement

(4) Preference

Fill in the blank choosing the correct option.
I in a five star hotel but it is too expensive for me.
(1) stayed

(2) shall be staying
(3) was going to stay
(4) am staying

Direction: (Question No. 11-15)
Read the passage below and answer the questions that follow
Leaving the port at last, waving madly at the well-wishers on shore, Jack had never been so excited.

Ahead of them lay sixteen hundred miles of ocean, wild rivers, snow- -covered mountains, treacherous
passes, and some of the most inhospitable regions. He was embarking upon the greatest adventure of his
life. But to achieve greatness, one must take risk and pains. He was ready to face any hurdle to make the
adventure a success.
The voyage from San Francisco took eight days and despite the overcrowding aboard the Umatilla, the
time passed quickly. Jack kept a close eye on Shepard and was pleased to see that the man lost none of
his resolve during the journey. When they approached Dyea, sailing towards the breath- taking views of
mainland Alaska, rather than seeming worse for the trip, Shepard shone with a new vitality. His heart
might no longer be pumping blood with its former vigour, but its essence remained strong. His
commitment was beyond doubt and professionalism was excellent.
What was the name of the ship?
(1) San Francisco
(2) Dyea
(3) Alaska
(4) Umatilla
What must one do to achieve something great?
(1) Embark on an adventurous journey

" (2) Take risk as well as pains

13.

(3) Undertake new initiatives

(4) Adherence to one’s resolve

Why was Jack pleased?

(1) He was on a great adventure.

(2) He enjoyed the breath-taking views.
(3) Shepard acted as per his promise.
(4) The journey was very smooth.
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14. What could have been a possible reason for Shepherd losing his former vitality?
(1) He was unwilling for the adventure.
(2) He was tired due to hard labour.
(3) He had heart problem.
(4) He was old.
15. Which of the following is NOT mentioned in the passage?
(1) The ship was overcrowded.
(2) There were thick forests ahead of them.
(3) Jack kept constant watch on Shepard.
(4) Shepard was a professional sailor.
16. He is blind his own faults.
(1) with
(2) to
(3) of
(4) from
17. He has given his bad habits.
(1) up
(2) upon
(3) on
(4) in
18. What did they steal? (Make the sentence into passive voice)
(1) By whom did they steal?
(2) What was stolen?
(3) Who was stolen?
(4) None of the above
19. His father is M.L.A.
(1) a
(2) the
(3) an
(4) None of these
20. He this work since morning.
(1) is doing
(2) has done
(3) does
(4) has been doing
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22.

23.

24.

PART - B

Teaching Aptitude
(Expected Answering Time: 40 Minutes)

In the class, students should

(1) be stopped to ask questions

(2) be discouraged to ask questions
(3) be motivated to ask questions

(4) not be allowed to ask questions

Maximum participation of students in
teaching-learning process is through

i. Seminar Method
ii. Lecture Method
iii. Discussion Method

Select the correct option from the
following:

(1) Only iii
(2) 1andiii
(3) iiandiii
(4) Onlyi

Which of the following develops the
National Curriculum Framework for
School Education (NCFSE)?

(I) Central Board of Secondary
Education

(2) National Institute of Educational
Planning and Administration

(3) National Council of Educational
Research and Training

(4) National Book Trust

The Sarva Shiksha Abhiyan (SSA) is a
flagship program for children to get
universal

(1) secondary education.
(2) elementary education.
(3) higher education.

(4) higher secondary education.
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25.

26.

27

28.

29.

A child is less likely to participate in
group activities due to:

i. Lack of social adjustment.

ii. Lack of emotional adjustment.

iii. Lack of educational adjustment.
Select the correct option from the
following:

(1) Only i1
(2) iandii

(3) 1iiand iii
(4) 1,11 and iii
ICT stands for

(1) Information Communication
Technology

(2) Information and Communication
Technology

(3) Instructional Common Technology

(4) Information Common Technology

Meaningful learning process does not
include

(1) Repetition and practice
(2) Memorization and recall
(3) Exploration and interaction

(4) Instruction and teacher support

Student proposing multiple solutions of a
problem is a

(1) Creative thinker

(2) Convergent thinker

(3) Rigid thinker

(4) Egocentric thinker

Teaching effectiveness is assessed in

terms of

(1) Learning outcomes of students

(2) Use of effective teaching aids

(3) Attitude of students towards teachers

(4) Posture of students
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30.

31,

32.

33.

34.

The Chairperson of National Education
Policy -2020 was

(1) Krishnaswamy Kasturirangan

(2) Vasudha Kamat
(3) Kaliprasad Anniseshwar Das
(4) Manish Kumar Jindal

The present Chairman of UGC is:

(1) Prof. Mamidala Jagadesh Kumar

(2) Prof. D.P. Singh

(3) Prof. S.C. Sharma

(4) Prof.Yogesh Singh

The primary characteristic of children
with ‘dyslexia’ includes

(1) attention deficit disorders.

(2) fluency in reading.

(3) inability to read fluently.

(4) engaging in repetitive locomotors

actions.

Which of the following is not the effective
method of teaching?

(1) Demonstration method
(2) Lecture Method

(3) Inquiry Based Method
(4) Problem Solving Method

The best way to introduce new topic by
the teacher is- :

i. Giving a broad outline
ii. Relating to day-to-day experience
iii. Relating to previous knowledge

Select the correct option from the
following

(1)
(2) Bothiandii
(3) 1i,1iandiii

4)

Only 1

Only iii
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35. The aim of National Council for Teacher 35,

Education (NCTE) is-

(1) to open new colleges of education

(2) to maintain standards in colleges of
education
(3) to promote research in education

(4) to provide grants to colleges of
education

36. Which of the following statement is 3¢
correct?

(1) Class VI students can be taught better
by Class VIII students than teacher

(2) Only teachers can teach

(3) Silence in the class is an indicator of
good teaching

(4) Noise reflects the bad classroom
control

37. According to Indian Constitution, 37
Education is in

(1) State list
(2) Union list
(3) Concurrent list

(4) All of the above

38. The quality of teaching is reflected by the: 38,

(1) pass percentage of students
(2) attendance of students in the class
(3) quality of questions asked by students

(4) duration of silence maintained in the
class

39. According to National Education Policy- 39,

2020, the grades 11 and 12 come under:

(1) Pre-University

(2) Higher Secondary
(3) Secondary

(4) None of the above
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40.

41.

42.

43.

44.

The best time to evaluate a student's
performance is:

(1) when the instruction has begun.

(2) when the instruction has ended.

(3) at the end of major units of
instruction.
(4) throughout the instructional process.

The structure of education as
National Education Policy - 2020 is:

per

(1) 5+3+3+4
(2) 5+3+443
(3) 4+3+4+4
(4) 5+4+3+3

Which of the following is the lowest
cognitive domain?

(1) Knowledge

(2) Understanding

(3) Application

(4) Evaluation

The "Physical Facilities" in a classroom
include:

(1) Adequate lighting
(2) Proper ventilation
(3) Sitting facilities

(4) All of the above

Universities imparting education only at
their central campus are called

(1) Residential Universities

(2) Deemed-to-be Universities

(3) Open Universities

(4) Central Universities
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45.

46.

47.

48.

49.

Which of the following is NOT a learning
resource?

(1) Educational Toys

(2) Textbook

(3) Teaching Methods

(4) Video

Which of the following question is at
understanding level?

(1) Add 5 Pens and 3 Pencils

(2) Define Noun

(3) What is the unit of Force in MKS
system?
(4) Name the capital of Russia

Jawahar
primarily
belonging to

Navodya Vidyalayas are
established for students
(1) Only Urban areas
(2) Only Rural areas

(3) Economically backward of rural areas

(4) Economically backward of urban
areas

The expanded form of NIOS is

(1) National Information and Open
School
(2) National Institute of Open School

(3) Normal Institute of Open School

(4) National Institute of Open Schooling

Which of the following does not bring
positivity in Teaching - Learning
Process?

(1) Dictating Notes

(2) Good Discipline
(3) Students’ Participation

(4) Joyful Learning
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50. During classroom discussion, a teacher 50. F&T H 991 ¥ A, TF w7 Az
often pays more attention to boys than

girls. This is an example of- Eﬁwﬁﬁ?ﬁwmsmém@ T T
TR &-

(1) gender bias (1) o qafre

(2) gender identity @) fr B

(3) gender relevance (3) T T

(4) gender consistency (4) T s
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PART - C

Reasoning Ability
(Expected Answering Time: 60 Minutes)

If in the word ‘ALONGSIDE’, vowels are
arranged in alphabetical increasing order
from left to right and then consonants are
arranged in alphabetical increasing order
again from left to right, then in the new
word, the fifth letter from the left side is:

(D
(2)
3)
4 S

o o »

In a family apart from the man and wife,
there are three sons and their wives. The
first son has a son and a daughter,
whereas the remaining two couples have
two sons and a daughter each. How many
male members are there in the family?

(1) 6
2) 7
3) 8
4 9
In the word ‘SPLENDOR’, in which each
consonant is changed into its previous
letter and each vowel into its next letter
(according to the alphabetical order) and
then all letters are arranged in
alphabetical order from left to right then

which of the following letters is at the fifth
position from the left end?

(1) O
2) K
(3) M

4 P
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(1) 6
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(3) 8
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(1) ©

2) K
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54.

53.

56.

il

In ‘964793158°, 1 is added to all the even
digits and 1 is subtracted from all the odd
digits, then what is the sum of the digits
fifth from the left end and fourth from the
right end?

(1) 12

2) 10

(3) 11

(4) 14

Given below are four names —

a) Football

b) Cricket

¢) Badminton

d) Golf .
Which among the following represents
the combination of the games for which
the number of players on-field at a time is

maximum among the given four and the
one which is not a ball game?

(M
(2)
(3) ac

4) cd

The number in place of ‘?° will be-
2,8,10, 16, 18, 32, 26, 56, 34, ?

38

62

74

88

()
()
(3)
(4)
What is the 100th letter in the series:-

ABC ........ XYZ / BCD
CDE ....... VWX / DEF

..........
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‘964793158’ ®, Tt w7 (T H 1 =T STAT §
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c) aefies
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ac
cd

‘Y F o1 9T -t gear srwft?
2, 8,10, 16, 18, 32, 26, 56, 34, ?
1) 38
2) 62
3) 74
4) 88

~

(
(
(
(

. @ FT 100 7 T §:-
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58. Which single digit number will occupy the
place of ‘?” in the given sequence?

062, 354, 646, 978
(H 2

3
(3) 4
4 5

59. What is the missing number in the
sequence given below?

2,12, 80,150
(1) 20

(2) 24
(3) 36
4) 42

60. Which one among the following
represents the combination of letters
correctly in case of?

bdb _ddbbbd _dbb _bddd _
(1) bdbd
(2) bddb
(3) dbdb
(4) dbbd
61. The letter in place of ‘?’ will be -
A, D, L P,?
(1) W
2 X
3) Y
4 Z

62. The letter will be in place of ‘?” will be -
ZXB, QPA, WSD, O?E

(1) I
2) I
3) K
4 M
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062, 354, 646, 978
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(2) 3
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) bdbd
2) bddb
3) dbdb
4) dbbd
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ZXB, QPA, WSD, O?E
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63.

64.

65.

66.

67.

In the word ‘BRISKLY’, how many pair
of the letters have the same number of
letters between them in the word as in the
alphabetical order of letters?

(1) One

(2) Two

(3) Three

(4) Four

In a Non-Leap year, as JANUARY :
OCTOBER, in the similar way

MARCH :
(1) MAY

(2) JULY
(3) NOVEMBER
(4) DECEMBER

Which among the following stands for the
combination of missing letters?

PQrp _rpq _pq _pqr _

(1) prrq
(2) ppar
(3) r1pqq
(4) qrrp

If the letters are written in reverse of
alphabetical order then the serial number
of which among the following WILL NOT
be a perfect square?

(1) K
(2) R
3) X
4 Z
The 31st letter in the given series is :

SOVEREIGN / OVEREIGNS /
VEREIGNSO / .ouovesssnnsnias

(1) E
2) R
(3) 1
4 G

CEE TEST - 2022

63.

64.

66.

67.

greZ ‘BRISKLY’ #, et ¥ fovaa siret #, 3974
Fi=r st € "@ear It &y g, T s @ v

(

(2) w2
(3) A=
(4) faEaz

) ﬁwﬁf@aﬁ@rﬁw—ﬁaﬁ-@mﬁﬁm

T AT FHAT 87

PQrp _rpq _pq _par_
(1) prrq

(2) ppar

(3) rpaq

(4) qrrp

If% ST FuiaTAT ¥ AT FT AVITHFA F
g w0 # fomar smar g, @ e &
et w1 T qof & f 7t grfi?

(1) K
(2) R
(3) X
4) z

TH GEAT H 31 A7 99 §:
SOVEREIGN / OVEREIGNS /
VEREIGNSO / .................
(1) E

(2) R

3) |

4) G
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68.

69.

70.

Direction: (Q. No. 68 -70)

D is 20m in south of A. C is 5m east of D.
E is 10m north of C. F is 10m east of E. G
is 15m south of F. X is 15m west of G. B is
10m to the east of A. Z is 10m to the south
of B. L is 10m to east of C.

In which direction is point A with respect
to point G?
(1) West of North by less than 45°

(2) West of North by more than 45°
(3) North of east by more than 45°
(4) North of East by less than 45°

The given options represent distances of
which three are same. Which is the other
one?

(1) EF
2) LG
(3) EC
(4) CL

What is the distance between points F and
L?
(1) 10m

2) 15m
3) 5m
(4) 20m

Direction: (Q. No.71 and 72)

The question consists of four statements
followed by four conclusions. Consider
the given statements to be true even if
they seem to be at variance with
commonly known facts. Read all the
conclusions and then decide which of the
given conclusion does not logically follow
from the given statements using all
statements together and mark that
conclusion as your answer.

CEE TEST —2022

68.

69.

70.

fAdar: (7. 9. 68 - 70)

A ¥ zfdror § 20 et D {1 D ¥ @ Rar &
5 #rexT 7T C &1 C ¥F Iux Rem & 10 iz E
31 E ¥ @@ § 10 Hiex W F {1 F ¥ oo & 15
Frer G2 GH 15 HX I AXIAF
T § 10 #eT 9T B {1 B ¥ =fwr 10 #HiX
WZECHFTEH 10 HeT T L 3l

G Fged § fra Rem FAR?

(1) STT-faw 45° 9 %7

(2) swe-afam 45° F AfeF

(3) TI-IF 45° F AfaF

(4) LA 45° H FH

Ry & & di Fwew vF Rl i ¥

T ) U fAeq IaTd S 99 ST 372

1 EF

—_

(2) LG

3) EC

)
)
(3)
(4) CL

figF i Lo R g 7 &2

1) 10 #.
2) 15,
) 5.

(
(
3

(4) 20 .

fAger: (7. 5. 71 TE 72)

T B AT F9 T ITqF a1 A A 2
R 7T T Y qF A TA G F qAG AN
F o wefta g1 aft et &y o) &t ol
FY TF GTT SYFRT 9 gL AT FL (%, Fa-aT
et aTfde &7 & FIT HT ATAL qgl Hav
2 o 9 Fred &Y sow s % = ¥ RifRa
Eayl
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71. Statements:
All circles are spheres.
All spheres are rectangles.
No rectangle is a pyramid.
No pyramid is a triangle.

Conclusions:

(1) At least some circles are pyramids.
(2) No pyramid is a sphere.

(3) All rectangles being triangles is a
possibility.
(4) At least some rectangles are circles.

72. Statements:
Some pencils are Kites.
Some Kkites are desks.
All desks are cups.
All cups are tea.

Conclusions:

(1) Some cups are definitely pencils.
(2) Some tea are desks.
(3) Some cup are kites.

(4) Some kites are tea

73. What is the missing term in the sequence?
2227, DREQ, GUHT, JXKW
(13 EFRS
(2) TGSF
(3) JwWVI
(4) AOBN

74. Which pair among the following should

be the correct replacement at *?’ :
D-3, F-5, H-7, J-9, ?

(1) X-23,N-21
(2) L-11,N-13
(3) P—15R-17
(4) N-13,P—15

CEE TEST - 2022

71.

72,

3.

74.

FI:

Teft =T T & B

Tl MeT & A g

s s ot =% 81

¢ e e S §

Ao

(1) F7 T F9 % g9 O 2

(2) =g faerfie e & T8 2

(3) =t st F Froget g A FAran 2

(4) & A FH AT T 2

EERIEERGUEA

T T4 SEF &

Toft 3% 7 8l

Toft w7 =19 €

fArewd:

(1) Tz F7 [fEg &7 7 96 2)
(2) F® AT T B

(3) e T TG 2

(4) F TET AT E)

ATFA | 2227’ F T T FA-AT H gHIT?
77?7, DREQ, GUHT, JXKW

(1) EFRS

(2) TGSF

(3) JWVI

(4) AOBN
fA=ferRa & & 919 97 SET 2 F R
gfeaTa= gAT AT

D-3, F-5, H-7, J-9, ?

(1) X-23,N-21

2) L—11,N-13

(3) P-15R-17

(4) N-13,P-15
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76.

77,

78.

Which number will come in place of <?” ?
144 (132) 121 64 (?) 100

(1) 90
(2) 85
(3} 75
(4) 80
Which option follows the same logic as

given in the relation between the two
words?

Story : Tragedy
(1) Sea: Ocean

(2) Road: Toll Plaza

T

76.

“? F T I It HEAT STHA?

144 (132) 121 64 (?) 100

(1) 90

(2) 85

(3) 75

(4) 80

e fRweT & wgHt © TEEt 9 a6 F I
[ERIE LY

(1) AT : 9gTETT

(2) IEF : A AT

(3) Weather : Dry (3) HIEH : g%

(4) School : Discipline (4) A AFATHT
How many triangles are in the given 77, & % smgfy ¥ fray Bt £2
figure?

() 8 (1) 8

(2) 10 (2) 10

3) 12 @) 12

4) 14 (4) 14

The missing term in the sequence is : 78. AqFT ¥ g U= &

56, 90, 132, 184, 248, ? 56, 90, 132, 184, 248, ?
(1) 316 (1) 316

Q) 326 2) 326

(3) 362 (3) 362

(4) 368 (4) 368

CEE TEST - 2022
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79. If ‘=’ stands for division, ‘+’ stands for 79  zf¥ ‘%7 3<f T, + &7 o4 T, + FT AT
subtraction, ‘=’ stands for multiplication,

‘x* stands for addition, then the value of o, X7 wf T, qT 70-2+4+5%6 FT AT
70-2+4-5%6 is : &

(1) 44 (1) 44

(2) 21 2) 21

(3) 341 (3) 341

(4) 36 (4) 36

80. According to the given figure two subject g0, & 7€ s F AR 2 Bt =71 sreaae
combinations can be studied by .
FT THA g

Mathematics ‘ ‘

2

Chemistry

(1) 11 (1) 1
(2) 23 (2) 23
(3) 40 (3) 40
4) 12 (4) 12
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questions are compulsory. The Booklet is
bilingual. In case of any ambiguity in any question,
English version will hold good.

2. The Test Booklet consists of 30 pages (including
cover sheet). Count the number of pages and
questions before attempting the questions.

3. Blank space in the Question Booklet may be used
for rough work.

4. Each question is followed by four alternatives.
Select only one, which you consider as the most
appropriate. Shade the relevant circle against the
corresponding question number on the OMR
Answer Sheet. Selecting more than one answer for
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incorrect answer.
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Test Booklet.

Rt &1 Bl g & g wweg g A qam H, 6l
STATE W BT '

. 3 AT § [$raT (F97) 79 B @] 30 78 g TR

T I I F TgeA I8 UF He=AT At qear w A

. 9ReT TRt H ETelt €T T ST TF 14  forg 3 S

ETI!

. TF 9 ¥ o = et Ry o §) o= & B =

g2t F7, O a7 ga fdw Sugeh a9 §, 49 Hfr
A TH AT IA-IF G YT AT F AER IHH qHA
TET g0 T grAihd Frorg) Bt TF g F o wh A
T I ALY &, SN Ted I F T § TG HL A

() TEY ST § TeAF * forg 2 &% g

(@) Teq I H weAw. o (o) -0.5 % we
ST ;

@) R weat 1 gwe AE Ay g, I g g o6
&l R s

. =0 qawr § fiv @

9T & — 99T ThrarT — 20 926
GIT & — fveqor srfSverwar — 30 93
W d — drifehes er@ar — 30 92

. e fRree w1 Pwio, g9 e § a1 3 F 60% AT

srear ThET & uTH $H F 40% F A o Fgita i
ST

. IO ¥ AW TH A0 9 it R S wE ofF 5w

adterr-qRasT 9T 78l forat s ARy




Part- A
Language Proficiency

(Expected Answering Time: 20 Minutes)
Read the passage given below and answer the questions 1 to 4:

Winter is cold in some places. Many plants do not grow during winter. Some plants
die. Snow and ice may cover the ground. It can be hard for animals to find food
during winter. Animals get through this time in many ways. Birds and butterflies can
fly. Many of them do not stick around for the winter. They leave. They go to a place
with nice weather. Then they come home in the spring. We call this migration.
Migrating is a good way to avoid the cold. Another good way to avoid the cold is to
sleep through it. Many animals hide during the winter. Their bodies slow down. They
save their energy. They do not eat. They live off of their fat. They do this until food
returns. We call this hibernation. Snakes, frogs, and bears hibernate. Some animals
store food in their homes. They do not sleep all winter, but they do much less. They
live on what they saved in the summer and fall. This is what squirrels, beavers, and
raccoons do. Skunks do this too. Other animals tough it out. They do not leave. They
do not hide. They must survive. Sometimes nature helps them out. Some animals
grow thicker coats in the winter. Other animals change color. The arctic fox is brown
in the summer. His coat turns white in the winter. Winter may be pretty. It is nice to
see snow on the trees. But it is dangerous too. People are also at risk. You can get
frost bitten or worse. How do you beat the winter? Do you wear a thick coat? Do you
stay inside? Or do you live somewhere warm?

1. What is Hibernation?

(1) Hiding in winter

(2) Not Eating

(3) Living off the body fat
(4) All of these

2. What does it mean to migrate?

(1) To grow a thicker coat
(2) To move somewhere warmer for a season
(3) To enter a long sleep and survive off of body fat

(4) To change colours
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3. Which of these animals survive winter by eating stored food?

(1) Bears
(2) Raccoons
(3) Frogs
(4) Birds

4. What is the main idea of this passage?

: (1) Animals do funny and interesting things
(2) Most flowers do not grow during the wintertime
(3) Animals survive the winter in many ways

(4) We must prepare for the dangers of winter

5. Select the word or phrase which gives the closest meaning of the idiom.

Off the cuff-

(1) Out of one’s hands
(2) Become free of responsibility
(3) Hands on

(4) Spontaneous

6. Find the part of the sentence which has an error:
(1) Despite of many attempts
(2) to introduce a universal language,

(3) the effort has met with
(4) very little success.
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7. Choose the word or phrase that best completes the sentence:

His jokes seemed to very well with the audience, if their laughter is any
indication.

(1) go off
(2) go down
(3) go along

(4) goby

8. Find the part of the sentence which has an error: -

The interviewer asked me (1) / if I knew that (2) / Kalidas was the
greater (3) / than any other poet (4).

9. Identify the correct sequence of sentences:

P: occur in the Earth's mesosphere
Q: about 40-60 miles
R: meteors, also called shooting stars,

S: at an altitude of

(1) PRQS
(2) PRSQ
(3) RPQS
(4) RPSQ
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Read the passage given below and answer the questions 10 to 13:

It is not without reasons that Western Ghats is named one of the Hottest Biodiversity
Hotspots. It supports the life of 7,402 species of flowering plants,1814 species of non-
flowering plants, 139 mammal species, 508 bird species, 179 amphibian species, 6000
insects species and 290 freshwater fish species. And many are still to be discovered.

Western Ghats is a mountain range that runs through the states of Gujarat,
Maharashtra, Goa, Karnataka, Kerala and Tamil Nadu. Running parallel to the
western coast and along the western edge of the Deccan Plateau, the hills cover over
1,60,000 square kilometre. And it is a UNESCO World Heritage Site.

The Western Ghats block southwest monsoon winds from reaching the Deccan
Plateau and are consequently an area of high rainfall, particularly on their western
side.

Geological studies have found the west coast broke away from Madagascar 100
million years ago and appeared as cliff with an elevation ranging at 3,300 feet.
Anamudi, the highest peak here, is located in Kerala. Outside of the Himalayas, the
mountain at an elevation of 2,695 is also the highest peak in India.

The major river systems originating in the Western Ghats include Godavari, Kaveri,
Krishna, Thamirabarani and Tungabhadra. The total area covers five percent of
India's land with 27 per cent of all species of higher plants in India are found here and
1,800 of which are endemic to the region.

10. West Coast was originally a part of :

(1) The Himalayas
(2) Madagascar

(3) Thamirabarani

(4) Anamudi
11. Why have the Western Ghats been declared a UNESCO World Heritage Site?

(1) It is the home of many birds
(2) It is unique in the world
(3) It is a natural phenomenon

(4) It is known for its beauty
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12. Why are the Western Ghats known as the Hottest Biodiversity Hotspots?

(1) It creates a hot and humid climate
(2) It is among the biggest range of mountains
(3) Itis located close to the Western Coast

(4) It has a range of rare species
13. The highest peak in these Ghats is

(1) Madagascar

(2) World heritage site
(3) Anamudi

(4) Kerala

14. Find the part (A, B, C) of the sentence which has the error. If no error, mark D.

My father is in bad mood today. No error.
A B C D

(D A
2) B
3 C
(4) D
15. Choose the word which is closest in meaning to the underlined word:

He rarely visits his old parents in the village.

(1) Temporarily
(2) Secretly
(3) Irregularly
(4) Frequently
16. Choose the part of the sentence which has an error:

She will not be .....

(1) happy unless her friend
(2) do not help her
(3) in the preparation for examination

(4) as she has been doing every year.

6
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17. Fill in the blank choosing the most suitable word from the ones given below:

Victory has many fathers defeat is an orphan.

(1) and
(2) but
(3) yet
(4) so

18. Choose the correct forms of tense for the two words in brackets:

But while I (do) the language course, T (meet) lots of young people from all over
the world.

(1) Did and met
(2) Done and met
(3) Do and met
(4) Did and meet

19. In the word ‘monolingual’, mono refers to
(1) Only
(2) Alone

(3) Lonely
(4) One

20. Fill in the blanks to complete the following sentence correctly:

If the team had won, the coach happy.

(1) would be

(2) would have been
(3) will be

(4) will have been
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~ PART-B
Teaching Aptitude
(Expected Answering Time : 40 Minutes)

21. What is most important while 21.

writing on a blackboard?

(1) Fully utilising the
blackboard

(2) Legible writing

(3) Line spacing

(4) Use of colour chalk

22. Which one of the following is i

considered a sign of motivated
learning?

(1) Students asking questions
(2) Watching a demonstration
(3) Listening to presentations

(4) Students taking notes

23. Which of the following would 23.

you consider as barriers to
effective communication?

(1) Moralising, being
judgemental and comments
of consolation

(2) Dialogue, summary and
self-review

(3) Use of simple words, cool
reaction and defensive
attitude

(4) Personal statements, eye
contact and simple
narration

MM-1/C

HTIT-9
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24. As a teacher, what is your most 24.

important function?

(1)
)
3)
(4)

25. Why games are needed to be a 25.

Imparting knowledge
Teaching a subject
Making students disciplined

Facilitating learning

part of school curriculum?

(1

2)

3)

(4)

26. A creative child is one who- 26.

(1)
2)
3)
(4)

27. A teacher who loves and cares =~ 27.

To create national level
sports persons

To promote all round
development of the child

‘To provide enj dyment to

the child

To develop competitive
spirit

Does well in exams
Always answers correctly
Asks unusual questions

Can memorise easily

for the disadvantaged students, is

a

o
@)
©
(4)

MM-1/C
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Gifted
Affectionate
Humane

Ambitious

U 8T & FT H 9T qEH
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(2) fawar = gemET
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(4) 3TRRTH F FITH TATAT

faezrerly qreg=at # Wl &
TIRIHAT FAT gleAT AIU?

(1) T &R F @t IR
A e

o]

ST & garefor AeE
%—Sr k

ST F 3G TeTd B
B

TqicHs ST faard
ed

]

2)

€)
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AT & 98 Th______ e g
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2) &

(3) AEE

(4) FecarHiad
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32.

33.

34.

Which of the following is not an
element of classroom

communication?
(1) Receiver
(2) Assessor
(3) Feedback
(4) Medium

Which of the following is not a
‘healthy classroom assessment’
practice?

(1) Informing pupils about the
correct answers after their

answer scripts have been

marked

(2) Informing individual
pupils’ test marks to the
class

(3) Asking parents to sign

answer scripts so that they
are aware of their child’s
performance
(4) Discussing the answers for
their appropriateness in the
class

Value Education is best practiced
in schools by focusing on-

(1)

Cultural practices
prevailing in the society

Norms of conduct laid

2)
down by a social
group

(3) Analysing human

values

4)

Yoga education

32.

< %5

34.

11

RArafaf@a & @ sia-ar saT
HYYOT &I AT &l 82

(1) IFFIE/REAR
() U
(3) wfagfse
(4) #AETH

RArfaf@a & Hia-dr ‘Tavg Far

(1) 3T YREasr S A &
geard Aeanfial & ¥er 3T
EGIGH

(2) Fam A yAw faeardf & 3
T '

(3) HATr-fanfRsAEst ¥ 3w
qRedeT W FEIRR #d 3o
3eTeh gTd & Y9G |/ 3HIed
HAT

(4) FEM A FW & 3YPFdaT W
AT HEAT

faezrerdt # #Fear smuRa R
Fafad 39 R Srar §-

(1) A # wafad aepias
JATHT X €A higd el
TS T ganT fauiia
RO & fAgAl W e Sfgd
Fh
AT Hedl & favelvor @
T higd IF

et RA&T W &q1T Hfgd Feh

2)

€)

4)
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35.

36.

37.

38.

Which of the following is the
most important characteristic of
open source software?

(1)
)

35

It is freely available

Source code is available for
modification

It can be distributed to
anybody

3)

4

It is improved on a regular
basis

If a student does not pay
attention in the class, the teacher
needs to-

(D
)

Change teaching method

‘Make teaching more
interesting

€)
(4)

Ignore him/her
Counsel him/her

Who advocated the concept of
“Basic Education™?

(1
2)
€)
4)

Aurobindo
Rabindranath Tagore
Mahatma Gandhi
Vinoba Bhave

Which one of the following is

not suitable for helping shy
students in a class?

(1) Discussion
(2)
(3)

(4)

Group project
Lecture
Role play

1

MM-1/C
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37.

38.
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Ug TAAT §T H 3TcsY &
g Hs w@AreeT & fow
3YSY & |

g fdr &1 off RaRa frar
ST Tl &
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39.

40.

41.

Which of the following isnota 39
purpose of asking questions in
the class?

(1)
2)

Rapport building
Making students to
think

Maintaining discipline

3)

(4) Providing feedback to

students

The best remedy for addressing 4.
_students’ low achievement is-

(1)
)

Diagnostic testing

Supervised study
‘in library
3)

Encouraging group
activity

(4)

Providing additional
opportunities

The education
imparted in family environment
is known as-

(1
)
€)
(4)

Formal Education
Informal Education
Non-formal Education

Basic Education

¥

MM-1/C

which gets 41.

fmfaf@a & & wem & 9o goa
& 3662 HIA-AT 78l 87

(1) wlerg safd Her

2) Rt & far &= &
fow aRa &t
FHIRAHA FATT IGeAT
@it @ sfagfe sew
T

3)
(4)

fReardt fir wa 3gafcy & Faftd
I T a9 ITOT 3UTT FAT 87

(1) elerfais adrator
(2) GEdHET H AT ETTAT

(3) W?@ﬁﬁﬁ#ﬁ%ﬁc
T
(4) IARFT EET JeTd F=AT

uqiae Al F & Saaren e
&l FEd &-

(1) 3iuenRe Rer
(2) 3toaRe faer
(3) R3hgaRe Rar
(4) A fRrar

[P.T.O.




42.

43.

44.

45.

e

As a teacher, which of the 43,

following would you adopt to
maintain discipline in your
class?

(1)
)

Teach effectively

Entrust students with
responsibility

Enforce strict rules

€)
(4)

Change their seats

The essential function of the 43.

school counsellor is-

(1)
)
)
(4)

Training the teachers
Teaching the students
Counselling a teacher

Helping the students

Which of the following is the 44.

most effective method of
teaching young children?

(1)
)
€)
(4)

Play way
Demonstration
Experimentation

Imitation

The most crucial function of an
administrator is-

(1) Controlling

Decision making
3)
4

Executing

Leading

45.

T fAGTH & FT A T AT HaT
A IAEA dAC WA & fov
fafaf@a # & sla @ gqufa
YATTIN?

(1) gl 3rearas

() Rt v SFAgir diaet

(3) @3 FgH aE W &
(4) 3T oA HT SHE e I

faeare wrAerar &1 faad
Y &-

(1) et @ 9fA&mr &
(2) Tt r ggET

(3) TRETE gAY &

(4) ToezTEt & Feradr Fr

fArafaf@a # & =i s<=ar &t
gglel T A THTET ddlehl dld-ar
Y,

(1) @ [
(2) fAgd= fafer
(3) wraner fafe
(4) FeFTT A

YATHE HT HIY Ageaqol w gl
&7

(1) fagFr

(2) ﬁv'maﬂm

(3) Traeags

(4) <dcd Hald Sl

14
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46. Which of the following factors 46. A=Af@T & i T FRF T
has least impact on teaching? RNETUT I IR FH THG USaT &7

(1) Teacher’s knowledge (1) Tets &1 A=

(2) Classroom activities (2) et aifafafar

(3) Socio-economic background (3) WrATTSIH-3TH geasifa

(4) Learning through (4) 3HeIed CaRT JHTETH
experience

47. A teacher needs to begin the class 47, 87 &1 F&TT HT IR T AT

Hye aIfRT ?

(1) Knowing students’ skills =D et i siua ATt

(2) Providing an overview of (2) 9IS F fAgamaehr TR
the lesson HHASTRT

(3) Checking students’ home (3) Tacafdat & -t S
“work o '

(4) Enquiring about the (4) 3equied feeanfdat & aR &
absentees BT

o

48. Select the most essential quality 48, AFfaf@a § T v RNeTH &

ofa sugcessful teacher from the e 3EET ToT F Aua FE

following. 5

(1) Knowing one’s subject (1) 319 fasr &t st aRE 4
thoroughly AT

(2) Producing high results in (2) U H 3T GRUMH S
the examination

(3) Being friendly with . (3) Refat & gy BEad
students TYdgR

(4) Being punctual to class (4) FET H AT FT € g

15
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49. As per the Constitution of India,
education is the concern of-

(1)
)
)

(4)

Only central government
Only state government
Both central and state

government

Both state government and
union territories

50. The best way to deal with an
aggressive child would be-

(1)
2)
€)
(4)

MM-1/C

Finding the reasons
Counselling the child
Ignoring the child

Being friendlywith the child

49.

50.

16

AR & A & AR fRer &

arfdca §7?

(1) #IT g DR F

(2) HHE TST WHR &l

(3) Fa IR T WHR
gt &r

(4) TST WHR AR Fg wfad
geRit &

A ded ¥ fAqes o1 qed

BT T &A1 gHI?

(1) FROT HT gl

(2) T HI WA &l

(3) ST Bl TR HLAT

(4) =¥ % @ fAvad saaER
—_—




PART-C -

Reasoning Ability difeha &aHdT
(Expected Answering Time : 60 Minutes) (3nifaa 3w wAT : 60 fAee)

51. Ifa=3;b=6;¢c=9;....2=178 51. I a=3;b=6;c=9;....2=78

then —p§g+risequalto ar ___p+n+rm_q\’_wa?
100

(1) 0.144 (1) 0.144

(2) 1.44 (2) 144

(3) 144 (3) 144

4) 144 B G s

52. Arushi is the daughter of Komala. 52, 37&[ S1AST & 937 §1 Ider sr
Satish, Komala’s brother has a fr FIAT & H1S § 3FA ThH 9

daughter Divya and a son Pavan. AR der § S Rear 3R gaaq gl
Shivani is maternal aunt of Divya. feear & #ATAT RaEh g1 3w
How is Arushi related to Divya? 3R feear & et @ g2
(1) Sister (1) dga
(2) Niece (2) el
(3) Aunt (3) =rr
(4) Cousin 4) TR T
17
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53. A man walks 1 km towards East 53, w& =afaed 1 feshqe feem #r

54.

and then he turns to South and
walks 5 km. Again he turns to
East and walks 2 km. After this he
walks to North for 9 km. How far
1s he from his starting point?

3 km
4 km
5 km
7 km

(1)
2)
€)
(4)

A clock is placed by rotating 90
degrees to the right from its
normal position where ‘12° is
towards north. The time in it reads
7:30 and the minute hand is
pointing towards West. Which
direction the hour hand is pointing
to?

(1)
2)
3)
(4)

North — West
North — East
South — West

South — East

MM-1/C

54.

18

3R goIar § 3R a9 7 gfaror @
IR Az 5 frAr T@ar ¥ 9@
iRy & R®E H I Aq3d §U 2
.7, godar g1 s+ 9 98 3N
feem &r 3R 9 fh.aAY. Tar g1 a8
IO BN FAF F R g
or
(1)
(2)
(3)

“4)

3 fen.a.
4 ..
5 fan. T
7 T

T& 3 A 39 ey fRufa @
90 faft afsh 3R gATR T@r
I g TR 12 A 2w Fr AR
¥l s 7:30 @ GHG @ @ ¢
ud sEH fAee @ gs afRad fer
sfftg aX W g1 ue & g3 e
fe—m &7 3% T &7 W 87

(1) W - aR=H
(2) 3N -«

(3) af&ror - uftas
(4) af@wr -




55. Abdul is richer than Beena. Alvin 55, &flar @ 3regel I¥F gl F
is richer than Divya and Abdul. o Rear wd seqe @ 3w

Beena is richer than Palani. Divya
is richer than Abdul.Who is the Ul Tl A ol & HfOE Ol

richest? gl fear seqer @ 3@+ el
e 31fF el HlaT g2

(1) Alvin (1) 3feas

(2) Abdul 2) 3@

(3) Beena (3) =

(4) Palani (4) Yelell

56. How many triangles are there in 56. A & I Il F fhaw M
the figure given below? : %

A e

(1)=5 (1) 5
2) 6 (2) 6
3) 8 (3) 8
4) 10 (4) 10

57. Which of the given numbers will 57, & 715 T3t & @ i @ gEar
correctly replace the question JesarE e & T W

mark? =
1 5 14 30 7? 1 5 14 30 72
() 55 (1) 55
o vy (2) 57
3) 60 (3) 60
(4) 64 (4) 64

19
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58.

59,

60.

In a certain coding language
KIND is coded as MLRI. What
will be the code for HATE in that

language?

(1) IDVQ
(2) JCwI
(3) JDXJ
(4) IDUR

The words given in capitals are
question pairs. They are followed

by four pairs of words. Choose

from them the one which best
represents the relationship similar
to that expressed by the question
pair.

PEN : INK
(D
2)
€)
(4)

Bat : Ball
Hammer : Chisel
Needle : Thread
Vehicle : Fuel

Which number among the

following does not belong to the
series?

(1) 28
2) 36
3) 46
@) 52

MM-1/C

58.

39,

60.

20

afg fe g s A KIND &t
MLRI for@r Srar g daf 39 #wr #
HATE & &1 forgsi?

(1
(2)
3)
4)

IDVQ
JCWI
JDXJ
IDUR

99 3eW A foU AT Asq IRA-FIA
¢l 38% IWId IR AG-JIHA eIl
fhr v §l WA-gIH & @A
ey A gl & T W R

I oA |
FoH . TR
(1) oar: 9ig
(2) & Sl
(3) Fs:ewm
(4) aree : $ud
frfaf@a & @ Sia-ar ger
3eTA 7 adt ¥?
(1) 28

(2) 36

(3) 46

(4) 52




61. How many triangles are there in
the figure given below?

(1 9
2 15
(3. 16
4) 18
62. Which of the numbers in the
given sequence does not have the

same characteristics as the other
members in the sequence?

19,28, 39, 52, 67, 84, 102
(1) 52
2) 102
(3) 84
@) 67

63. Five friends A, B, C, D and E are 3.

sitting in a row facing North. D is
between E and B. B is to the
immediate left of C. A is to the
immediate left of E. Who is
sitting in the middle?

(1) B
@) ¢
3) D
4 E

MM-1/C

62.

21

87

(1)
)
€)
(4)

61. i & 1§ 3Hfa A fhaar ey

9

15
16
18

fu a1 regsra & Hla-dr dEar fwr
farar g 7 & o I
T3t fr RAYAr IFTER AG 82

19, 28, 39, 52, 67, 84, 102

)

)
€)
(4)

52
102
84
67

9T a&d A, B, C, D 3R E 3™
feem #r 3R @A gU UH GEd H
45 81 E wd B & o/g D T g3
¥ C & &% 918 3R B ST gam
gl E & 8% 1§ 3R A Sor gan
g1 & 3 e Sor g3 &7

(1)
2)
€)
(4)

m o O W




64. If you write all the numbers from

65S.

66.

One to Hundred in English words,
how many times will you have to
write ‘a’?

(1) 20
2) 10
3) 5
“4) 0

A student walks from a point and
moves 12 km east, then turns to

right and goes 4 km. Then, she

turns west and walks 12 km. How

far is she from the starting point?

4 km
6 km
10 km
28 km

(1
2)
3)
4)
In a coding language, if EGIN is

coded as MQTV, then BDHO
would be coded as-

(1) KRVX
(2)
3)

4)

LSWY
KRVY
MSWY

MM-1/C

64.

65.

66.

22

afg 3T we @ & a& a@sh
FEABY Fr e wsel A forEmd
g, o 3w fRaer IR ‘e’ @
JIRT AT G397

(1) 20

2) 10

3 35

“ 0

Th OET U T § Jo R
feem #r 3R 12 A gad § 3R
3% 91 a0 Az gU 4 fRA.
qac g1 R @g aRaw & 3R
s & 3R 12 fRa werdr §l
98 U YOI TUH F fovcsir
T &7

(1) 4 feah

(2) 6 &

(3) 10 f&.a.

(4) 28 f.a.

afg e e s 7 EGIN &1
MQTV fa@a & ar 39 smwr &
BDHO & &7 for@ai?

(1) KRVX
(2)
3)
“4)

LSWY
KRVY
MSWY




67.

68.

Which letter should be placed at 67.

the question mark to maintain the
sequence?

XU S P "N K 2%
(1) H
@) 1
3) I
4 L

A river flows along the east-west g8,

direction. On a particular day in
the morning, Mohan was seen at a
place ‘A’ located on the northern
side of the river and on the same
evening he was seen at a place ‘B’
located on the southern side of the
river. Following are the comments
made by four of his friends.

I. Mohan must have crossed the
river only once

II. Mohan must have crossed the
river four times

II1. Mohan might have crossed the
river five times

IV. Mohan might have crossed it
any number of times

Choose the correct statement(s)
from among the above-

(1) Onlyl

(2) Onlyll

(3) IandIII
(4) Mand 1V

i3

MM-1/C

3ThA H TAT WA & AT
yReAards REd & TUT W Hid
T & HITI?

A=U-5 F N K 7

B
@ |

G J
4y L

& A4 QRE-aRaH fur A wgdr gl
et & fARaa e &r gag #
AlgeT A4 T 3aX Gr A IR T
‘A 9 @ Ir AR 3 R i &l
gg offor feem &1 3R T B W
dar Iml 3§e 9R fAEr g@nr
@ ad sars o%-

|. AlgeT o &7 A U a) df 9”
frar & &

. AgeT & 16 & IR aR 9 fRar
e

ll. AET F A4 T UG 9T IR IR
famam g

IV. HigeT o 51 &l 8 IR IR fHar
g

fmafaf@a # ¥ 3Ra Fua a1 -

(1) &I
(2) s
(3) 3R
4) I3V

[P.T.O.




69. Mr. and Mrs. Sunder have three g9,

70.

71.

children namely Ashwini, Ramesh
and Sushant. Ananya and Ashish
are siblings. Ashish is son of
Ramesh. How is Sushant related
to Ashish?

(1)
()
3)
(4)

Uncle
Brother
Cousin

Nephew

January 1st of the year 2018 was a .

Monday. In which year January
1st would again be a Monday?

2022
2023
2024
2025

(D
2
3)
4)

In the following sequence, what
will replace the question mark?

0,3,8,15,24,7,48

35
36
37
34

(1
)
3)
4

MM-1/C

70.

Tl

24

A AR A eI A AT a2 &
e ae aReeh, @y 3R
gaa gl A 3R AV e
g6 g Ny @A F OIT gl
[aNd T AT F T HEY g?
(1) =

(2) &1

(3) NI &S

(4) s

a¥ 2018 & 1 S@ad A FWHAR
7| fRu av FiF ¥ a¥ # 1 FAad
FI GERT WHAR g2

(1) 2022

(2) 2023

(3) 2024

(4) 2025

frafaf@a segwa & gesards
Red & T W Hia-d@F dE&7r
3T

0, 3, 8, 15, 24, 7 , 48

(1) 35

() 36

(3) 37

4) 34




72.

73.

A book has 1084 pages. How
many digits are to be printed for

printing the page numbers in the
book?

(1) 2679
(2) 2809
3) - 3229
(4) 3409
Which of the following diagrams
represents the relationship among

Students, Females, and
Employees?

1

2

G3)

(4)

906¢

MM-1/C

72.

73.

25

T qEad A 1084 g6 g1 T&dh
# Js5 §E&AT B9 & fav fhda

3R @ BIY I IEIHRAT glef?
(1) 2679

(2) 2809

(3) 3229

(4) 3409

gAH W Sia-ar Y@ Feafa,

Afgen3it aur FATRAT & €T &
ey At griar 87

(D

2

3)

(4)

kLT

[P.T.O.




74. In the following sequence, the 74, RFafai@d 3R A 338N U9
TEdT s HAfad A T 9ol
X @ &l o Q7w Reeat A
¥ IHeJhHA I 3Tl Hexd grm?

letters and the numbers
following a certain logical order.
Which of the option given below
would be most appropriate to be
the next member of the sequence?

W-144, U-121, S-100, Q-81, ...

(1) 0-64
(2) R-70
(3) R-64
4) P-70

75. Which of the given options 75,

correctly replace the question
mark in the following sequence?

C G N X ?
() I
2 L
3 J
4 K

MM-1/C
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(1) 0-64
2) R-70
(3) R-64
4) P-70

-W-144, U-121, S-100, Q-81, ..

fArfaf@a segea & few aw
qFedl A O HT-TT 9Taras
RIEdT & AT 9T AW |

C G N X

1 |
@ L
G
“4) K

?




76. There are four professionals: a 7,

77.

lawyer, a doctor, an engineer and a
teacher. Each one lives in different
cities Delhi, Chennai, Mumbai and
Kolkata. Each one has different
color taste Blue, Red, Green and
White.

Lawyer likes Blue.

One who likes green lives in
Kolkata.

One who lives in Delhi is a teacher.
Doctor lives in Chennai and likes
white color.
One who
Mumbai.
Engineer lives in Kolkata.

likes Red lives in

Where does the Lawyer live?
(1)
2
3)
4)
Given below is an Assertion (A)

followed by a Reason (R).

Assertion (A): When a body is
immersed in a liquid fully or
partially, there is an apparent
decrease in its weight.

‘Chennai
Delhi
Mumbai
Kolkata

Reason (R): The decrease in

weight is due to the higher density

of the displaced liquid.

Which of the following is TRUE?

7.

AR 9¥aw Wt gade,  she,
sl 3k et a8 F 9AF
IeTaT-3reT9T BT FH S e, e,
#Fas AR rorrar § @ 81 5 &
YAe hfFd & W H g e,
AT, &7 IAT TG o

FHA FI el TG g

58 g0 wg & 98 Sieleprar # @
gl

S fReeel A W®d & 98 et gl
slaey It A WA § 3N 3¢ ahq
WG Bl

fSer arer w¥ig § 9% AFE A W ¢
AR Prerprar H @A gl

dr, gdrer Fgl W@ 872

(1) =t e

2) fer

3) T
(4) reehrar

AT (A), ®UT F ® A dur (R),
FROT & &7 F I am=r gl

FUT (A)Sia frelr a&g # A g
#F qUIRT ¥ JYar HiRE &I @ gEEr
ST § o 38k AR A TS T
SaT grlr &

FROUT (R): R H HFAT & FHROT
feafa g@ & 39 Uedcd & gl
el

fRefafad & Fia @ a7 82

- (1) Both A and R are true and R (1) ARREAT TG @ A

is the reason for A ¥ g FT FROT R &l

(2) A is true but R is false (2) A ¥F § WJ R 38T Bl

(3) Ais false but R is true (3) A 3T § W R &7 g

(4) Both A and R are true but R (4) T AINR AT E HJ A
is not the reason for A. & @ 1 FROT R 78T &1

27
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78. Find the odd one out. 78.

(1) Gallon
(2) Litre
(3) Quart
(4) Metre
79. Select the correct alternative from 79,

answer figures which will replace
“?” in the problem figure.

Problem figures:

A EREE

Answer figure:

A\ A |22

1 2 3 4

28
MM-1/C

A A G|
(1) e
(2) @
(3) ITF ()
4) #X

IR AHIT & F g e &
e 3T ReeT &1 T3e |

AlalPIP




80.

Given below is a
followed by two conclusions
numbered I and II. Which of the
Conclusion(s) is/are implicit in
the statement?

Statement:

The female to male enrolment
ratio in a school is improving over
years. In the meanwhile, academic
achievement of male students is
having a downward trend.

Conclusions:

I. Earlier we had low female to
male enrolment ratio in schools.

II. As the female enrolment
increases, male students’
achievement shows a downward
trend.

statement g(. T BT 71T Fuya & AT Fsay |

tg sy |l yea fre arw g
sd ¥ Pl ey w7
Jdfeifed 82

CIr

fege # vys a¥ oEl &
qolelT H BHETST AT Al F AT
7 g @ W el os@ dw o
fr dggfos syafey A FRm@c
e@a Fr A &1

IGA=2 R

|. Rererat & wgar oEmt & st
H AT BIET & HhE HA EIAT
o |

II. S-S ot fr sl 7 gefd
g5 & ol & o suafer A
fRTae d@= Fr Al gl

(1) Onlyl (1) faF I
(2) Only I ) &I
(3) Neither I nor II GB) aTIITEN
(4) BothIandIL (4) a=rlwEl
29
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Test Booklet.

fardt &1 By weeT § F1E @wg g ATz H, Sl
AT AT 20T '

7o g # (S (F97) 79 F1 fAere] 30 79 81 JRar
FT 3T 3T & T2 TH1 UF GeAT A FeAr 7 ffHw

SReT AT F @Telt TR FT ITAN TF 4 ferg AT S
EER _

qerE U F form = fAwen fu aw #) = 7 B uE
9T T, F3rEr AT a9 ATF SUL HA §, AT 0
aﬁ@aﬁw—wqrqaﬁﬁw%ww%ﬁmi
T 3 T TR AR P T e 3 v
3 ST HET 2, IA T I F FT F IR0 F &

(F) & T | T AF F o 2 50 2

(@) T I F wEE F o (FTeE) -0.5 #F Fe
ST

@) B weat #1397 7E Ay @ g, 37w o #1E 9F
Tal fRu S

= qfeqaT § i @ve €

OTT 3 — 9197 =0T — 20 96T

ORT T — foreror srfsyersar — 30 W

qTT | — qrfs® q9qar . — 30 99

¥fre forez = fmtor, swarer & | 9TH $F T F 60% TAT
FEAT THEAT # 9TH SFT F 40% F g o7 fRuita £
ST

I A A UH AT U7 st Fhy S w99
TAEAT-qfRAhT 9 qET foraT ST AR »

|




Part- A
Language Proficiency

(Expected Answering Time: 20 Minutes)
Questions. 1 - 4: Read the passage carefully and answer the questions.

A massive stone figure of famed Sangam poet and philosopher Thiruvalluvar
stands at Kanyakumari, the great meeting point of Bay of Bengal, Arabian Sea and
Indian Ocean. Nearby is the better-known Vivekananda Rock Memorial.

Thiruvalluvar’s statue has been made 133 feet tall, to match the 133 chapters of
his most famous work Tirukkural, a collection of 1330 couplets on social conduct,
ethics and love.

The statue stands atop a rocky islet about 500 meters off the coast, and can be
reached by a short boat ride. Waves break and froth at the base of the rocks but never
touch the statue which stands tall and firm and sacred, on a three-tiered pedestal flanked
by ten elephants. The statue’s striking feature is that it is slightly bent at the waist — like
the posture of a dancer.

Dr. Ganapathi Sithapathi, the sculptor, had stated that the statue can withstand
the mightiest of earthquakes, and it was proved to be true when the mighty Indian
Ocean tsunami which caused massive damage in Tamil Nadu in 2004 could do nothing
to the most revered statue.

Adapted from National Geographic Traveller, March, 2017, Pg.127

Choose the correct answer from the choices given.

1. Kanyakumari is the

(1) Northernmost point in India, close to China
(2) Easternmost point in India, close to Myanmar
(3) Southernmost point in India, next to the Oceans

(4) Westernmost point in India, close to Pakistan

2. "Couplets" are
- (1) Short two-or-four line poems
(2) Short two-or-four line stories
(3) Short stories for newly-married couples

(4) Short philosophical sayings for couples
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3. A special feature of the statue is that

(1) It stands on an islet
(2) It has ten elephants guarding it
(3) You need to use boats to reach it

(4) It has a dancer’s posture

4. The Sculptor’s words came true because

(1) The tsunami had destroyed its base
(2) The tsunami had no effect on it
(3) The tsunami had avoided it because it was very strong

(4) The tsunami had no effect on India

Questions. 5 - 6: Look at the adjectives given here. Choose their correct
NOUN form from the choices given.

5. Likely (adj.) — (Noun)
(1) Unlikely
(2) Likelihood
(3) Like
(4) Liked
6. Disturbing (adj) — (Noun)
(1) Disturb
(2) Disturbed
(3) Disturbance

(4) Disruption

Questions. 7 — 8: Which word means the opposite of the given word?

7. Insipid
' (1) Delicious
(2) Unflavoured
(3) Tasteless
(4) Attractive
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8. Organized
(1) Clumsy
(2) Simple

(3) Improper

(4) Unconvincing

Questions. 9 — 10: Read the sentences carefully, and choose the part which
has an ERROR in it.

9. Alibaug has interesting histories,  in its crumbling forts

A B
and cemeteries which are scattered around the area.
C D
(1) A
(2) B
3) C
4) D
10. The origin of the word Shampoo can be trace back
A B
to the mid — 18th century, from the Hindi champo, or to massage.
3 D
(1)
(2) B
3) C
4) D
4
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Questions. 11 — 12: The following sentences are jumbled up. From the
options below, choose the rearrangement that would make it meaningful.

11. Polar regions due to undergo changes global warming have begun to
P Q R S

(1) SRQP
(2) SQPR
(3) SPQR
(4) SRPQ

12. Both encouraged me my talents my parents to develop
P Q R S

(1) RSQP
(2) RQSP
(3) RPQS
(4) RPSQ

Questions. 13 — 15: Choose the most suitable word for the blanks from the
given options.

We should try and save water. Turn the tap (13) when the (14) 1s
full. We should (15) leave the water running.

13. (1) On
(2) Off
(3) Of
(4) Out

14. (1) Dam
(2) River
(3) Bucket
(4) Tank

15. (1) Always
(2) Never

(3) Sometimes

(4) Rarely
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Choose the best form of reporting from the choices given.
16. Rajeev said, ‘Let’s go to a movie this evening’.
(1) Rajeev suggested that we could go to a movie that evening
(2) Rajeev said let’s go to a movie that evening
(3) Rajeev said that we could go to the movie that evening

(4) Rajeev told me they would go to a movie that evening

Identify the correct sentence that explains the meaning of the root-sentence.
17. He walked slowly holding his mother’s hand.
(1) He walked slowly since he held his mother’s hand
(2) He held his mother’s hand and walked slowly
(3) His mother held his hand and walked him slowly
(4) He held his mother’s hand slowly and walked

Questions. 18 - 20: Read the following passage and answer the questions that
follow by choosing the correct options.

As winter sets in, many birds leave their breeding grounds and fly long distances
to warm places. Here it is easier for them to find enough food. As spring comes, they
fly back to their homes. This amazing annual journey is called migration.

Long ago, people did not know where the birds went in the winter. Some people
thought that they flew up to the moon! Now we know that birds migrate to warmer
lands. But scientists are still puzzled how these creatures navigate so accurately. They
probably use the sun and the stars as guides, and the rivers and mountains as landmarks.

The migratory birds that visit our country include the beautiful Brahminy duck,
the colourful mallards, the pelicans and the pintails. These feathered guests fly from
Europe and Central Asia. Birds such as painted storks and pied cuckoos migrate within
the country.

Human activities (or should we call them ‘inhuman’ activities) disturb migratory
. birds. Advanced missiles and other weapons used for long periods harm the
environment as they destroy plants and kill animals. For example, after the war in
Afghanistan in 2002, endangered migratory birds such as Siberian crane could not reach
India because the air over Afghanistan was so poisonous that some died and some
turned back.
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18. Birds migrate because they seek

(1) Food and shelter
(2) Breeding grounds
(3) Warmth and food
(4) Food and water

19. Which of the following statements is TRUE?

(1) Birds migrate only within a country
(2) Birds migrate for short distances
(3) Birds migrate over Afghanistan

(4) Birds migrate across and within countries

20. Below are four statements which describe migratory birds. Read them carefully
and choose the correct statement from the given options.

Statements:

I  Birds use the rivers and mountains as landmarks.

II Birds fly to the moon.

III Birds cannot fly over poisonous environments.

IV Birds fly only to India.
(1) Statements I and I1I are true and statements Il and IV are false
(2) Statements II and IV are true and statements [ and III are false

(3) Statements of I, III and IV are true
(4) Statements III and IV are false
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PART-B TIT-9

Teaching Aptitude forayor 3rfAaTHAT
(Expected Answering Time : 40 Minutes) (3faT 39X AT : 40 Aee)
21. All the school activities mustbe  21. faezrer $r @sft afafafedt $r
planned as per the- AT AR AT AR
(1) Requirements of the (1) Tegre $r 3adedr &
school | HHR
(2) Capabilities of the (2) UGS HI &THAT &
teachers HJER
(3) Need of the learners (3) Wt & 3EIHAT F HTAR
(4) Direction of parents ‘ (4) Fa-far & Ady & Er |
22. Maximum participation of 22. feror 7 Rt fr s
students in teaching-learning seferi-arasy & ufrar g9 &
process is possible through: ST R :
(1) Lecture method (1) =greg geufa
(2) Discussion method (2) feaR-fRAs geufa
(3) On-line teaching (3) 3iAcTsa fReor
(4) Teaching with power point (4) YET-9Ive & YT Hd gv
presentations fevayor

23. Democratic values can best be 23. Rezfdar # gafarq e

developed among pupils Aeu fawfia o o @ear &

through:

(1) Reward and punishment (1) @vus IR &R & 2ar

(2) Competitions (2) wfaeayt & @

(3) Group activities (3) UHE HGHAT & Eanl

(4) By lectures on democracy (4) dihdd W AEIH & @RI
8
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24. Active learning is NOT involved 24,

mn-

(1
(2)
)
4

25. When is the perfect time of the 25,

Web-based activities
Experimentation
Problem solving

Demonstration by teacher

year for a teacher to clarify the
rules of conduct in his/her class?

(M

)

3)

“)

26. RTE Act 2009 deals with free and  26.

During the first few days of -
the school year

Once the composition of
the class has stabilized

During the course of the
year

Right after submission of
report cards

compulsory education at-

(1)
)
3)
“4)

27. 'The Wings of the Fire' is an 27.

Primary stage
Elementary stage
Secondary stage
Upper primary stage

autobiography written by .

¢y
2)
3)
(4)

PP-1/A

K. R. Narayanan
Rajendra Prasad

Dr. A. P.J. Abdul Kalam
Dr. S. Radhakrishnan

afra Rieror & fav Fee F F Fi4-
o afafafer sfAad ad adt &2

(1) d€E3meRa FHrdhard
(2) T

(3) THEYT |ATYleT

(4) R P earr

T HEgIs & v feor &

ANSAT §allel & folT a¥ &7 Sl AT

AT 39gFd &7

(1) Tacged a¥ & 9ud Fo
f&at & e

(2) UTH dR FET & TA-HA T
ESICEC I

(3) a¥ ¥ qreEEA ¥ Ak

4) Rt F1E o B F O
Iy

RTE fafazs 2009, f:geh 3R
ey Rer _ @ & &l

(1) wgAs &
(2) IREAF TR
(3) AFAS TR
(4) =7 TfAF TR

' fd79 3% & BRI (The Wings
of the Fire) 3TcA®RUT & oIE&H -
(1) &. 3R, ARG

(2) Usieg w4G

(3) SN T 9. S Hegel FolHA
4) S T, TS

[P.T.O.



28. Teachers Day is celebrated on 28. et fGaq YRd H FATIT JATT -

in India.
(1) 5th August (1) 3PET S
(2) 8th March (2) A8
(3) 5th September (3) RaER 5
(4) 30th September (4) faEs 30
29. Who is responsible for : 29. fegor F AT IAERT HiT
Education in India? 9
(1) State government (1) T §&R
(2) Central government : (2) g WHER
(3) Both Central and State (3) Few IR TS &t
Governments ‘
(4) Local Self Governments (4) TIET TWER
30. Right to Education has been 30. ars & ¥ &g dfeue Tua
made a Fundamental Right by O Rer § ¥0VER AN "I
which of the following ¥RFR F TT F TFT
Amendment Acts of the
Constitution?
(1) 84 (1) 84
(2) 85 (e
(3) 86 3) 86
(4) 83 4) 83
10
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31,

32.

33.

Which of the following is NOT  31.

one of the important 21 century
knowledge and skills?

(D

Mastery of core subjects in
the curriculum

(2) Critical thinking and

problem solving

Communication and

€)

collaboration

(4) Technology literacy

Which of the following is the 32.

purpose of establishing Jawahar
Navodaya Vidyalayas?

(1) To achieve the goals of
Sarva Shiksha Abhiyan in

rural areas

To increase number of
schools in rural areas

(2)

(3) To provide quality

education for rural children

4

To minimize wastage of
education

When is learning considered to 33

be meaningful?

(D

Teacher tells the meaning
of new concept

(2) Child tells the meaning of

new content

(3) Child connects past

learning to new learning

(4) Child finds the meaning

from dictionary

11

PP-1/A

217 eraredy F A AR HlA &

fav e & & Flaar Agcaqur 78t

g7

(1) ureg=at & yoa fawat &
IEREEGH

(2) HTrEeACHS | 3R qHET
AT

(3) TUWUT AR HgI

(4) cehaireRT ATERAT

SaTgX Adiey faearerd & TA9eT
T 32T farT & & Fiaar 87

(1) aior &1ar A |9 e
ITATTT & I8 gIed Fled
551

AT &F A fagarerat fr

AT St HY IOTET
fRrem gere % &

R & gEILIT & FH A
gd

Pl

(2)
(3)

4

T & g GTIF AT AT 87

JS 3EATIH AAT ITURCN FHT
HF §arar gl

SIg Fe=n 741 f[aug-avg &
HY §araT gl

SIS odr qd A § A3
HRETH Y Ssar gl

SIS d<dT AegHT T 7Y
gred AT gl

ey

(2)

3)

4)

[P.T.O.




34. As aprimary class teacher, what
will be your response if a child
steals things from other
children’s bags?

(1) Ignore the child’s
behaviour

(2) Make him sit in the last
bench in class

(3) Tell about his stealing to
the whole class

(4) First discuss with parents
to find out the cause

35. Which of the following should
be the most appropriate teacher
reaction to deal with students
struggling to learn?

(1) Teach only some units

(2) Use same tasks/activities
for all students

(3) Provide different learning
opportunities for different
students

(4) Allow students to
memorize the subject
matter

PP-1/A

34. IfE IS oar 3T gTal F ST d
$S I odr g, ar o ufa A7
ST HETT T GEeATTSh gl &b
AT 3T &1 gfafear gei?

35.

12

(1)

(2)

3)

4

g<di & cgdgR &I dcdr
FLAT

38 Fe & Oel dic W
IEEG

T HET 1 38k TR & TN
H g1

Wa?rtrcﬂdn{ﬁ%gw&b
ATAAT & a1 HLT

faeandat & draa 7 3rgfaen &
TET 81, or v Rufd 7 e
&1 foiest & gaq 3uged gfafear
FIT BT ART?

(M
()

3)

4

el $T BT FHIE TG
we et & e 3o
FrI/AAR™ &1 39TRT FET
3TerT-31eeT feafiar & v
3TEET-37619T HTUIH 3T
Yarel e
faeziat & fawg-avg a1
FX oA Dl FHgell



36.

37,

If a student with low vision is
enrolled in your class, as a
teacher what best can you do?

(1) Tell the parents of the child
to seek medical advice

(2) Make the child sit in the
front row

(3) Give the child extra
homework

(4) Ask the parents to send the
child to tuition for extra
classes

A class V child is not able to
read as per his grade level. What
will you do as a teacher?

(1) Ask the parent to make the
child repeat class IV

(2) Advice the child to
improve through
hardwork

(3) Make the child stay back

after school for one hour
and do the reading practice

(4) Refer the child to the
school counsellor

PP-1/A

36

37,

15

. gfe 39T Fer A T VW arerr
w15 faeandf gaer &xar g, af s
freTeh gl & AT 3T FAT Fer?
(1) 39 AT-ar & s &
Sollol T Hgar

(2) T H FEM & Ugel o W
JoTdar

(3) = @ Hfaled e &

(4) T & AC-TAT @ FHed 39
sifaRera wem 8 g e

547 @& HT Teh &Tdl HYal HETT

TIX &1 II6 Ugd H 3H&TH g, af U

e 8l & ATT 3T FAT HN?

(1) o= & AE-Rar & w9 &
g=ar T & 447 e H & 9

(2) TEE H FAAR Bl F Tod
g F IRHF Fe H Fqog
&ar

(3) e & ag a=d & s
ge ¥ fav Ader AR 38 god
I XA FI Fgdl

(4) TRl wWHds & F@Fah
F5r

[P.T.O.




38. What is the major role of a

teacher?

(D)

(2)

3)

(4)
39.

Which of the following skills is

To prepare children for
exam

Help the child get a good
job

Help the child realize
her/his potentials

To be a good human being

an intrapersonal skill?

(D)
(2)
)
Q)

40.

The most important function of a

Working in a team
Reflecting
Collaborating

Co-operative learning

good teacher is to-

()

)
)

4)

PP-1/A

Encourage the students
Punish the students

Help students learn the
subject

Help students to prepare
for exam

14

38.

39,

40.

U fRuaTeR 1 FET S{fART FAT g

87

(1) <=t & 96T & T IR
AT

(2) 3O Al 9 g ST H
ACE FHLAT

(3) ST HT AT F gl A
ACE AT

(4) IS T

A T & O iadar sira
Feadafads i §72

(1) o ad
(2) Twaa

(3) wEwT

(4) wEER HE

T TS HEATH A HET Hh
giem &

(1) TeafE # dieared &
(2) Temfdat =t gfsa &
(3) Tzt # vy d@a #
HEG AT _
fezriiat 1 e &g IR
T

4



41. Which stage of human
development is marked by
drastic changes in different
aspects of development?

(1)
2)
3)
(4)

42. As

Childhood
Adolescence
Adulthood
Old age

a teacher, how will you

address the behavioural problem
of children in the classroom?

(1)

)

3)
(4)

43.

Discussing the problem
with school authorities

Informing the parents
about it

Punishing the children

Understanding the cause of
the problems

The person's belief that he or she

is capable of performing a task is
called-

(D
2)
3)
4

PP-1/A

Self-actualization
Self-efficacy
Self-esteem

Self-worth

41.

42.

43.

15

e & R ugeRl & #AEg
g T Hla-dT  daTUT  Ydd
gRadsr & fov Rfgaa far =ar 82

(1) SA9«aEaT
(2) friRmEET
(3) FEEEE

() RO

T &R gl F Ad FHET H

foefdai  &r cgagrerd AT

H AT FA FaIdd Her? |

(1) TezmeT yeus & @y 9=
s ;

(2) 9 HEYU H ACG-TAT HY
qad s

(3) €= @I &Usd ST

(4) THE & FROIT H GHSA
FT I LT

AN T VFT AT § T ar T
FT & FA F gAY § T F8d 6-

(1) Faregsifa
(2) ¥a&HAAr
(3) TaEFAE
(4) TEIETAT

[P.T.O.




44. When the problem of one single 44, I & v afFa H gaAET *°1

individual is studied in detail, it ReaR @ 31egaa rar Srar & ar
is called- FHgdTdl %:
(1) Experimental method (1) SAeTcHAs geufa
(2) Observation method (2) 3aciee Ueufd
(3) Case study method (3) HH w&fs geufd
(4) Introspection (4) 3ITcATGRANIT
45. A teacher should value the 45. T HEFIH HI I YRR F
answer papers- Hodiehed HTAT BT
(1) Sympathetically : (1) WI\%W
(2) Leniently (2) 3ERdar ¥
(3) Objectively (3) TEIREHAT H
(4) Moderately 4) Wﬁﬁro T T
46. A child is having problem of 46. us e #I FAARTT Fiegd &
attention. Where will you make & gEear @y &) 39 FaT & 39
him to sit in the class? el dara
(1) In the middle (1) d=#
(2) In the back 2) 9
(3) Near the window (3) TE@sHr & aH
(4) In the front (4) wHA
47. Which of the following type of  47. grsgss $r gatad W FEr
assessment is generally - Reartiat &1 Ao yere e &9
conducted at the end of a course BT & @ A WiEes geuty
to assign grades to students? T 3T S Sﬂx‘-l} 0
(1) Diagnostic assessment (1) dlerfaes el
(2) Formative assessment (2) TIAICHS 3HTeheld
(3) Current assessment (3) WHR® 3ehelet
(4) Summative assessment (4) |ARRT el
16
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48.

49.

50.

Which of the following is NOT  48.

expected of a teacher in India?

(1) Respecting plurality of

culture
(2)

Emphasizing
multilingualism

(3) Restricting disturbing

students
(4)

Opposing discrimination

A child is motivated to learn 49,

more when there is-

(1)

No interference by the
parents
(2) More time provided by the

teacher

Positive feedback from the
teacher

3)

4

Silent learning
environment

Which of the following is most 50.

expected of a teacher?
(1)

Loves to teach bright
students

Loves to teach weak
students

(2)

Differentiates between
bright and weak students
and teaches exclusively to
one-while teaching

3)

Differentiate between
bright and weak students
and caters to their
differential needs

4

17
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AR #H Reg @ e & T Fia-
ar afEra 7@ &2

(D

(2)

3)

4)

HERT T AT FT FEATA
FILAT

ag-aqﬁma:rmm
hldAT

3¢gus oAl & gfdeid
FHLAT
ferEreoT & faer ar

U gTd & R AHiUe @@ &g
&g IR Far Smar 82

(1

)

(3)

4)

HATAT-AT & ganT ge&daiy
EHICRCH
HEATYH carT I A
AT e |
HEATTS EaRT HEHRIHS
st &

e HTEA aTATEaRoT

Teh HTST JEgQI9eh:

(D)

(2)

3)

4

Aerdr faezrdt s ggrEr
HeE T ¢

FAGR faeamdt s geEr
HeE T ol

ST9 9ol TT gicm & o Hurdr
3R FAR et $r
gl X Thlieded §7 F
qeTdT gl

FT gl X 3eAh IHoldl-
37T HTERTRATAT & AR
U AT o

[P.T.O.




PART-C ATT- |

Reasoning Ability afes eraar
(Expected Answering Time : 60 Minutes) (3r9f@T 3T §HT : 60 fAee)
51. Find the missing number. 51. & §'§ qEAT F goA
3,15,5;8,24,3;4,32,8,7,7, 8 3,15,5,8,24,3:4,32,87,2.8
(1) 39 _ Bine
@ 32 2=
(3) 40 3) 40
4 56 @ 2
52. In acertain code language CAT = 5. &y 99w Hoha AT & CAT &
is written as 123 and DOG is 123, Td@ DOG & 456 & &7 #
written as 456. What will GOAT forar Srar ¥ GOAT &Y &7 far
be written as? ST AR
(1) 6789 (1) 6789
(2) 7891 ) 7891
(3) 7823 (3) 7823
(4) 6523 (4) 0523
53. Find the ODD one out. 53. A &I zjfr;-
(1) Mother (1) =t
(2) Sister (2) dsgd
(3) Brother (3)
(4) Aunt ~ (4) T

54. Squint: Vision as Stammering;: 54. o gfSe, AT gHATET ;

4

(1) Mouth (1) #g

(2) Face (2) =

(3) Speech (3) arofr

(4) Tongue (4) Sirer
18
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55. Which of the following is a 55, g8 ¥ HIA-AT s RECTIFY &

correct synonym for the word qIgarey § ?
RECTIFY?
(1) Destroy (1) Reaw
(2) Command (2) WG
(3) Simplify (3) ETAHIOT
(4) Correct (4) @&
56. Choose the number that is 56. WHE H AT @ 3ol HEAT A
different from others in the Ti?
group.
(1) 138 | (1) 138
2) 177 2) 177
(3) 144 (3) 144
4) 183 | 4) 183
57. A,B,C,D,E, andF are sitting 57. A, B, C, D E, Td F, 3% fgam &r
in a row facing north. A is the 3 T BV TH HaRk & 38 &1 A,
neighbour of B and D; E is the B 3T D %—r g ¥, E, ¢ 3k
neighbour of C and F, and D is F & g=rly & ©d D, C &r gsra
the neighbour of C. How many £ A AR E & wew waedt &
members are there between A . .
and E? P S
(1) Two (1) a
(2) One (2)
(3) Three | (3) o=
(4) Four (4) IR
19
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58. If ‘COMPANY’ is coded as 58. Ife 'COMPANY' &I Hohd 9T &

‘YNAPMOC’, then how will '"YNAPMOC' gl S1aT & ar
you code ‘GERMANY’? 'GERMANY' &I T&a oTT & &
ET STeaT ?
(1) RMANYGE (1) RMANYGE
(2) YNAMREG (2) YNAMREG
(3) YNMAREG (3) YNMAREG
(4) YMNREGA (4) YMNREGA
59. Choose that alternative whichis 59, GURUKULA & Tgr guur gfafss
the correct mirror image of & faFeT & T ?
GURUKULA.
(1) AJUAUAUD (1) AJUAUAUOD
2) ALUAUAUD ) ALUAUAUD
3) AJUAUSIUG (3) AJUAUAUG
(4) AJUKUSIUD (4) AJUKUSIUD
60. Choose that alternative whichis g0, 637965 TEAT &1 FET dhieds
the correct mirror image of gdor gfafsT @ o7
637965.
(1) é0@Y &0 (1) €¢0€@YTE&o
2) S09V&o 2) 509V&0
3) €e6@T&o 3) e6@eTEI
4 e09V&o ~ 4 eo09VE&o
20
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61. Which one among the following

62.

is the mirror image of:

AP
NOAE
» PIOARL
o LAON
@!OAE

Arrange the following in a

meaningful sequence.

1) Babyhood, 2) Childhood,
3) Adulthood, 4) Infancy
(1) 3,2,1,4

2) 4,1,2,3

3) 4,2,1,3

4 2,1,4,3

PP-1/A

61. Teafaf@a # @ Hia-ar & fqu

AT FAHAT FT gUor glafee § ?

1 /a\C
NOAN
» POAR
o LAON
o I AR

2. T=faf@a @ srdqel s &

Fome-

1.§99aEdT, 2. diedia&d,
3.uterawdr, 4. duarawAr
1 3.2,1,4

2y 41,23

(3) #2153

4) 2,1,4,3

[P.T.O.




63. If AE=KO, then F] =7 63. I AE = KO, @l FJ = ?

(1) PT (-1
(2) KT 2y KT
(3) PO )
4 PY @y Y
64. What comes next in the letter 64. a'u‘r.&i@-m H 3g% dlG Far AU ?
series? :
B: E-J—8 = 7 BB 1 o
(D=7 (hat
2 Vv AR
3 X Gy 3
4 Z 4 Z
65. Find the ODD one out. 65. aﬁaaﬁgﬁ:-
(1) Kilometre (1) o
(2) Foot (2) W<
(3) Yard (3) IS
(4)  Quart (4) F@c
22
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66. Here is a statement followed by ¢g.

two conclusions numbered I and
II. You have to consider the
statement and the following
conclusion and decide which of
the conclusions follows the
statemeflt.

Statement:

25% percent of the cabbages in
the market have worms.

Conclusions:

I. Cabbages in the market have

worms in them.

II. Cabbages with worms may
find their way in to the market.

(1) Conclusion I follows
(2) Conclusion II follows

(3) Neither I nor II

follows

(4) Both I and II follow

67. Anjali, Rajender and Surinder
are children of Mr. and Mrs.
Kohli. Ashok and Geeta are
siblings. Geeta is Rajender’s
daughter. How is Anjali related
to Ashok? ‘
(1) Aunt
(2) Mother
(3) Sister
(4) Niece

PP-1/A

Tgl v HuA fear R § o a
sy s TEar | AR Il & §9 A
o & 81 39Hr FYA W IR &1
F ffr 9 eyt W AR & §
3R gg Ao Far g & ala-ar
fsFy Fue & 367ET Bl

he:

IR & 3T 25% TJamEnfaar #
EIEN

IGACAH

| SR & garenfaar 7 13 gl

Il g el gaEnfaar SeR # S
gl gl

(1) =y | U & 30T &

(2) Frsay || FUT & T g

(3) I AR FE I FUT &
HTET &

4) | 3R 1 = e §

. 3, T AR gReeR, AT T

ANAAT Fge F I= gl 32 iR
AT HTS-SgA &1 IMNAT Tsleay &
& B AT FT 3NF F qEY
gara ?

(1)
2) =

(3) &
(4) srchahr

[P.T.O.




68. A,B,C,DandE aresittingina 8. A, B,C,D TdE U& TN H d

circle. C is sitting immediately to g0 &1 C, E & UscH T 3R dar
the left of E: A.is.sitting between g—m g1 A, D U9 E & AET Sor

D a'nd E.Bis s1tt1ng between g3 ¥ B Aeafaf@a Reedt &
which of the following? S e dar g3 )

(1) AandD () A @D

(2) EandD 2) E @D

(3) CandD 3 CwbD

(4) AandC 4 ATEC

69. What comes next?

 69. SHS TG FAT AT ?

A 22 | 12 ? A 22 ! 12 ?
26 E 18 0 ? 26 E 18 0 ?
5 S
(). b= i
8 8
@ @
3 = 3 =
3) Gy
’ 6
@ T @
24
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70. The diagram below represents
three overlapping segments of
society:

Circle — Educated youth
Triangle — Unemployed youth
Square — Employed youth

Based on the above relationships
given in the diagram which pair
of numbers represent ‘educated

youth who are employed’ and-
‘employed youth who are not
educated’?

(1) 2and3
(2) 2and4
(3) land2
(4) land3

71. Ifa=2;b=4;¢c=6;..;z=52,

then 25 1s represented by-

y+k+m
D
) atz+v
@
Xtytz
3 —
C
1 m+l+n
@
PP-1/A

70.

71.

25

A & T HF AT AT F
aE & AP aot @ aeie ¥

gd - Rf&d gar
fFeloT - SRISER gar
gl - AT Jar

AT & U a7 IR & Faul &
YR W HIA-AT &I & A
Ig gTd & ‘RIf&d gar s ISR
g 3R QSR Far S e RfErdT
qE 8?7

(1) 23Rk 3
2) 23R4
3) 13Rk2
4) 13Rk3

g a=2:b=4c=6: ..32=352,
ar R 25 e afota sen?

+k+m

M
@) atztv
b

X+y+tz

® e

@ m+1+n
a

[P.T.O.




- ABCD -2 .. Z,which 72, ABCD ....Z &A-4 a1 T

letter 1s midway between the two aifesy 3 ¥ 239 T W U9
letters — one is 23™ from right SO AT 3R ¥ 143 T W A
side and the other is 14" from quif & Femr F e -
the left side.
(1) H 1 H
2) 1 @ 1
3) M @)
@) N 4 N

73. Which one of the following 73. e=fef@a 7 9 si9-ar 3@
diagrams best represents the : Afgemt, gfcaal, g Amanit &
relationship among women, Feut & g€9 =S ads @
wives and mothers? ol & 2 :

(1)v (1) ©

» (0)o » (0)o

0 Lol cnl 8
= €

@ )

26
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74. The number of line segments that
are used in drawing a

four-square  combination  as

shown in the figure are 12. The
number of line segments in a
sixteen-square combination are:

(1) 40
(2) 48
(3) o4
4) 80
75. A is the daughter of B, C is the
sister of A. B is the daughter of
D. How is C related to D?
(1
(2)
3)
(4)
76. Find the ODD one out.
(1) aBEF jj
(2) bCFG jk
(3) pQTU yz
(4) tuXY bc

Granddaughter
Daughter
Grandmother

Aunt

PP-1/A

74.

T3,

76.

27

7§ w& aR 97 & 9T &
NG H gA7 F 12 Wy @ost &1
qznwgsrr%‘l

HioTg-ae T F I A X
@usr Fr @ g

(1) 40

) 48

(3) 64

4) 80

A BE A C A e B
B, D & 9& g1 C & D & day
gqre ?

(1) drr

(2) ¥&

(3) @mr

(4) =TT

SHA FT LoA?

(1) aBEF 1jj

(2) bCFG jk

(3) pPQTU yz

(4) tXY be

[P.T.O.




7.

78.

The pair of words is given in the
example. It is followed by four
pairs of words. Choose from
them the one that best represents
the relationship similar to that
expressed by the example pair.

Example:
MAGAZINE : EDITOR

(1) Novel : Writer

(2) Poem : Poet

(3) Film: Director

(4) Painting : Artist

In a coding language, if EGJN
iscodedasM Q TV, thenBD
H O would be coded as-

(1) KRVX

2y LSWY

3) KRVY

4) MSWY

PP-1/A

T

el & S5 Q0T A QU 91T g
& ¢ IR 3R eeEl F A g
s & 3 gAY S 3arer A R
T T F T U A FEd
3 dlF & T T Bl

3algdUT.
gf¥er ; guice

(1) 3991 : dT®
Q) FRar : Fh
(3) Trer : W=
(4) REFSERY : FHATHR

78. I FHM FTc AMAE G J N

28

MQTV fd@d & o 38 & &7
BDHO @& a1 fa@d?

(1) KRVX

@2y LSWY

ay KR VY

@) - MSWY




79. The second figure (B) in the 79 uesf 3mpfa & Wg # IS (B)
problem set of figures bears a 3_1-@1—;7 (A) & ¥y v AR ey
certain relationship to the first T cfar ¥ s TEY F HUR W
figure (A). Based on this 3R WS @ #F (D) F T W

relationship choose one from the '
answer figures which most HerH 39gFd 3”Ec';i§' T AT H

appropriately would be placed at
D. g T

Problem Figure:

=Nk AL

A B C D
A B L D

Answer Figures | ECEgcUEan]
1 2 3 A 1 2 3 4
80. Find the ODD one out. 80. IFA &I a‘_’;‘f?
(1) hi LM pq (1) hi LM pq
(2) ef HI Im (2) ef HI Im
(3) mn OR vu (3) mn QR vu
(4) st WX ab (4) st WX ab
29
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